2009 = =0l &b 2B A

ton

K et2te| ot
THol & XH=HON

etz (&)
S FB SR (E) - NRAY - Be S oy S RS2
0 &40
cl 11,375,808 4,183,798
= 986,617
s 1,200,000
= 342,315
Al 8,846,876
EPA R0 Y 10,099,895 3,886,139
= 986,617
s 1,200,000
= 342,315
Al 7,570,963
thatel 183,006 67,906
= 12,000
= 18,500
Al 152,506
HEOIR otEEY 2 FH(B=X 24,000 24,000
= 12,000
= 6,000
Al 6,000
206 M=l 8,000 8,000
= 4,000
< 2,000
Al 2,000
01 MZ 4l 8,000 8,000
OMEFAI 2 M EFHA U7 8,000
= 4,000
= 2,000
Al 2,000
301 etE4= 16,000 16,000
= 8,000
= 4,000
Al 4,000
12 JIet2a=3 16,000 16,000
OMEFft7 ALY MY 22t 16,000
= 8,000
S 4,000




A THE2tel ot
S Mol & Mo

chel Trael L)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Al 4,000
OIS MBI (EX) 41,666 20,000 21,666
& 12,500
Al 29,166
201 Let3y| 25,000 15,000 10,000
& 7,500
Al 17,500
01 AtR2teltl 25,000 15,000 10,000
Oget=ZH| 25,000
— MR EEE M 15,000
= 4,500
Al 10,500
— Ot ZeME NS A & 10,000
= 3,000
Al 7,000
401 Al &BIZ20HYI 16,666 5,000 11,666
& 5,000
Al 11,666
01 Al&H| 16,666 5,000 11,666
O2=s01&4a HEEXH EES 16,666
= 5,000
Al 11,666
22l (REA) 117,340 95,100 22,240
101 @IAH| 37,260 0 37,260
10 JIZtNZ2Z2NASEs 37,260 0 37,260
O2=s0IfIgXRR2E2 37,260
== 32,000& *302 *30 28,800
— =X 32,0003 x5 *30H 4,800
RPN 32,0003 12 x30H 960
— 24| 3,000 30 *30H 2,700
201 L3 34,920 24,100 10,820
01 AtR2teltl 27,920 14,100 13,820
oY 44| 16,500
—Mt2e 22 M 2,500
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A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ

30,000 * 1504 4,500
Hi =0l 2,000

500,0002 1074 £ 5,000
—UFANIY E2S KIF 2,500
o2gsy 3,920
O E BRI ALY
70,0002 * 142 x43| 3,920
ozl 7,500
—THHER EHOX S A 7,500
03 A2 7,000 5,000 2,000
OMU Y SE2d 7,000
202 OfHl 7,920 0 7,920
01 =L§0fbl 7,920 0 7,920
O=Uoitl 7,920
301 LBIEAR 1,800 11,200 A9,400
10 #AAHEAZ 1,800 1,200 600
OMUOIEE U DT &A
10,0002 * 15 %123 1,800
403 XtXISHHISHEO0l& 35,440 59,800 A 24,360
R EENNEENEL] 35,440 59,800 A 24,360
Ol4s Sat@el &N 24
20,0002 x80% x23] 3,200
OYREE S RN 484,0002 * 1074 £ 4,840
Ot REINOIFHI A E 50,0002 *1002] 15,000
OMHAMBES TS 500, 0002 *5H A 2,500
OMUEsEa ZHl 7Y 5,000
Of4+84+=8T 600,000 %37} 1,800
sHESAEHD) 650,000 %27} 1,300
OHl&E5ED 450,0002 =4} 1,800
TH 0l 2 2,012,546 1,173,552 838,994
= 159,531
Al 1,853,015

WP R(EX) 152,403 53,000 99,403
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chel: IOl e (58 2)
. _ - SIEN
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Rz

NI EES) = 59,531
Al 92,872

302 OIFLMHRBAS 36,834 0 36,834
= 18,417
Al 18,417

02 PRIAITHHEAS 36,834 0 36,834
OE+dH2EtY N2 36,834
= 18,417
Al 18,417

307 eI2t0IH 55,569 53,000 2,569
= 1,114
Al 44,455

05 LI29IE3 55,569 53,000 2,569
OMAB=ZH RA2e 55,569
< 1,114
Al 44,485

401 AlSHIL =0 60,000 0 60,000
= 30,000
Al 30,000

01 A&l 60,000 0 60,000
OINMBSAIAE(MS) 2= 60,000
= 30,000
Al 30,000

BiZ el (B X) 210,000 200,000 10,000
= 100,000
Al 110,000

401 AlSHIL O] 210,000 200,000 10,000
= 100,000
Al 110,000

01 A&H] 210,000 200,000 10,000
OLSth4T L +2FHI (N4 +2) 200,000
= 100,000
Al 100,000
OLSH4+T ¢ +2TH ANLHS 10,000

STHE R (XA 487,400 649,620 £162,220
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CHl 1 T Lol 2 (B9 @)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
201 ereoty| 135,400 118,020 17,380
01 At2tel| 83,600 80, 100 8,500
Oet+gH| 26,400
—THHAIROHE 222 M 3,000
—Norass 22 2 2,000
—IINBENE SEH ¥ 24E
,000,00021 %1374 £ 13,000
—QIYTIHRAKIS QT A
800, 0002 +87H A 6,400
—XANEYNS EESE 2 2,000
o2g+y 5,600
AT SBHEE VS| BALY
70,0002 +20% 43| 5,600
om=| 1,600
—XNEREYNG 2SS 1,600
o2zl 5,000
—MHly 22X S| 3,000
— XSS Sl 2,000
ouxz 50,000
—NHSS=Te TH Ux 50,000
02 BT 46,800 37,920 8,880
OZZRIYLHIA 46,800

2,500,000 128 30,000

— Mol IFEAE HIIHst=

400,0002! *12% 4,800
—HuSsaBA M2
1,000,000 * 122 12,000
202 OfHl 4,000 5,600 A1,600
01 =00l 4,000 5,600 A1,600
OUNAR 48 4,000
203 AR=FY| 2,000 2,000 0
038 AEFZALEZY| 2,000 2,000 0
O R =7 2,000

206 M=l 20,000 20,000 0




A THE2tel ot
S Mol & Mo

Chl: T L of o (S92l &8
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 Mz 20,000 20,000 0
O XM (PPELHS 55) 7 20,000
01 YprEaz 3,000 0 3,000
10 BAAHIZAS 1,500 0 1,500
OXSTELHE DS 0|
50,0002 *53] %62 1,500
12 JIEHBAS 1,500 0 1,500
OMMALEON ZAHBRH ZA3 1,500
307 BI2HOIH 3,000 0 3,000
05 BIFeiera 3,000 0 3.000
O=B240 FIAL HEHHEL2 3,000
401 A&HIL=0HYI 320,000 28,000 192,000
01 A& 310,000 120,000 190,000
O4+E% 240,012 BB Z| 20,000
OOt BHBE A 20,000
OL DM oh 3 24X 130,000
ONSSLBBLALBY(1H2) 60,000
OMHEXEZ B FHI (2244) 20,000
ONSSHER(2E)AY(5H2) 40,000
OMHHAX L ABXT AALHBY 20,000
03 Al&=ChH| 10,000 8,000 2,000
OMBHHX L THohS B X7 10,000
B == 2 22l (XHA) 1,162,743 270,932 891,811
101 2I21t] 116,863 114,052 2,811
10 JIZHIZNSES 116,863 114,062 2.811
Oth+2 221Xt 2SHI(36IH2)
32,0002 122 362 3,824
Ot +Z 22l (15%) 103,039
-l=3 40,810 1202+ 15 73,458
—EXpa g 40,8109 %242 *15% 14,602
— ARt 40,8102 +52 * 152 3,061
Y24y 40,8102 1.5+72 +15% 6.428

—ZHAH] 3,000& x120& *15H 5,400
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SRl THLHO (&te &2
i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hon=s2t
201 LBt YH] 113,000 104,000 9,000
01 Ar2t2|t] 3,000 11,000 28,000
Ot g2H| 3,000
—Hi2=F MIIAIE HIIHA 22 3,000
02 ZZ=29H] 110,000 93,000 17,000
O22Ze= 2 AA 40,000
— 4= &I, J 32 (160HA)
2,500,000 x 1604 2 40,000
OA&ZHISXH| 70,000
—WEESXE(16004) 50,000
— 22X E S (540A) 20,000
206 M=Hl 8,000 0 8,000
01 IHZH 8,000 0 8,000
OaHolY 22 2 (160HA)
500, 0002 * 164 8,000
307 2I2t0|E 22,880 22,880 0
05 gl2telet= 22,880 22,880 0
O 2 ot 2te] e 1,430,000 x 1604 2 22,880
401 AlSHIZL R0 882,000 10,000 872,000
01 Al& 882,000 10,000 872,000
OJt22H2%& B4 100,000
OHi$Z DA HH(ME,S2) 200,000
Otf2=& glaz®I| X (ME,ZX) 140,000
OB HE 22 40,000
OZ MU a2 B2 350,000
Obi4=2& E2AE4 AALEH 84 40,000
Ol &2ey 82 12,000
403 NXISHSK20/E 20,000 20,000 0
02 ZI|IZSOICHECHE AL HI 20,000 20,000 0
OLlSHI+Z SXlze 20,000
5t& Hd| 7,513,488 4,526,769 2,986,719
2 972,717
=2 1,200,000




A THE2tel ot
S Mol & Mo

ol GHE H| (Sl &
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES O AF K loﬂ/i\_Fo” Hlw &2

ota = 150,000
Al 5,190,771

SIEEMURNBEI(BX) 2,300,000 1,436,000 864,000
7 1,200,000
= 150,000
Al 950,000

401 Al&HIL S| 2,300,000 1,436,000 864,000
= 1,200,000
< 150,000
Al 950,000

01 A& 2,280,000 1,426,000 854,000
OBEHOEEA (L = 2.0Kn) 1,980,000
a 1,188,000
Al 792,000
OXI 2ot & QX 22l 300,000
= 150,000
Al 150,000

03 Al&=Ch 20,000 10,000 10,000
OFBEHOIEEA (L = 2.0Kn) 20,000
2 12,000
Al 8,000

A EFE (2 X) 2,338,272 1,443,044 895,228
= 972,717
Al 1,365,555

401 Al&HIL Y] 2,338,272 1,443,044 895,228
= 972,717
Al 1,365,555

01 A& 2,323,272 1,433,044 890,228
OABHEFHI (4 A L=1.8Kn) 2,323,272
= 967,717
Al 1,355,555

03 Al 15,000 10,000 5,000
OAGHEZHI (494 L=1.8Kn) 15,000
= 5,000
Al 10,000
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el ol H| (£ @8
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
SHEHHIL R (KA 1,725,216 800,725 924,491

101 Q121 87,716 113,125 25,409

10 JRAN2ENS2+ 87,716 113, 125 125,409
Osta el 77,780
—J=23 40,81021 * 1802 +8% 58,767
—FR4g 40,8102 362 8 11,754
—E kg 40,8102 %92 +8! 2,939
— 2t Al 3,0002 %1802 +8 4,320
Oorel 4+ & 22l 9,936
—J23 32,0002 602 *4] 7,680
—F=xag 32,0002 #1022 *4 1,280
— 2l 3,0002 *602 *4 720
—oikt g 32,0002 x22 *4 256

201 Y2yl 23,500 40,000 16,500

01 ARzl 21,500 40,000 18,500
OEEL] 1,500
—0rel YT R2BAK 1,500
oYxe 20,000
—StEKR X2l HHIYR 20,000

02 BB 2,000 0 2,000
O2222 2 MAl 2,000
— 20l S BT 2,000

206 MHE bl 11,000 5,000 6,000

01 Mzl 11,000 5,000 6,000
OstEgN e FHL2E 7Y 5,000
OMERYRTTY 6,000

401 ASHI L2 1,600,000 640,000 960,000

01 A&l 1,450,000 640,000 810,000
O EHII ¥ NFSHH(BHSBS) 100,000
OstaR Xz 50,000
O 2aHAST & (L=1200m) 450,000
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Qa2 EXdoiY2 AXI(2HA) 160,000
OO0+ d B84 L HE 70,000
OAI2FHHI(L = 60m) 40,000
Odl2AEH| (L = 150m) 70,000
O=29/ ™ AH|(L = 70m) 80,000
OA&EAEHY|(L = 80m) 40,000
OOotE2& &I (L = 70m) 40,000
OdA=AEH|(L = 50m) 30,000
O=2d™AH|(L = 100m) 50,000
O8z2dAEH|(L = 100m) 50,000
O21&dAH|(L = 100m) 60,000
OSH& A olAEH| (A = 700m") 60,000
O=&& ota&dl(A=1,000m") 50,000
O=sHatE A (L = 100m) 50,000
02 Zeldl 100,000 100,000
O £ofar& Xl JHa (L = 1200m) 100,000
03 Al S 0HbI 50,000 50,000
Odt&E 7 Xl 22l 30,000
OZHAEEXN S5 SR 20,000
405 AHAHS SHI 3,000 400
01 AAMTSSFSHI 3,000 400
Ol =2| 400,000& =50H 2,000
OdlX&E 500, 000& *2CH 1,000
A5t FH| (X)) 1,150,000 303,000
401 Al&EHILE204H] 1,150,000 303,000
01 Al&H] 1,140,000 300,000
OMgt&el2 e X (5001 4) 30,000
O st Aol & A -] (L=200m) 70,000
OHMEAstAAH|(L=150m) 50,000
Ox e Aot& A H| (L=300m) 70,000
O2=220t& & H| (L=250m) 70,000
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O=dA56tA ZHI (L=150m) 60,000
OAMI& A5t F 8l (L=250m) 80,000
Ogt=S A6t & HI (L=200m) 60,000
O3 HAsHA &8l (L=200m) 60,000
O ALABHE EHI (L=100m) 60,000
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03 Al£Z=0Hd] 10,000 7,000 3,000
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g zd 390,855 398,335 ANT,480
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& 14,284
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= 746
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Al 1,219
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Al 1,219
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OAsIIXM 7 2,487
= 746
< 522
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SN
X XH .
(=

chel:

M- B SR(B) - HRAY - BE S Ak e 2
01 3L 2,000 3,000 A 1,000
O=LHH bl 2,000
206 M=l 840 0 840
01 MZHl 840 0 840
OZEAEA0IESZ FtELH
210, 0003 *4JH 2~ 840
301 Lptsaazg 193,276 189,518 3,758
09 ZSUZIRRIVELS 170,536 177,018 6,482
OJl2=s 90,0003 »12& »40H 43,200
O&Aldl 5,000& 232 «12& 40 55,200
@IME=3:] 2,500 x232 x12& x40 27,600
Ol =H| 25,100
—ot= 75,0003 »2H x40H 6,000
-== 80,000% x2H 40 6,400
—gs= 120,000 =40 4,800
—223 130,000 =40 5,200
—YEtEg 20,0003 40 800
—282 10,000& 40 400
—g& 2 03 1,500
OJIZ &l 5,000& =128 40 2,400
oozl 20,000& »40H 800
OHXM=Ual 40,000 23] 40 3,200
OZUZFRA Mslz 243
20,0003 »40H *23| 1,600
OMolEs= 953,000& *12& 11,436
10 SAIAHIEAS 19,340 10,000 9,340
Ogeoyd &4 10,0003 x50H x4 3] 2,000
Oeld = =& 20,000 x100H 2,000
OQeAHE - JIG&HAL FA
10,0003 »300H 3,000
Ot &HA 130,000& * 124 1,560
OSXNHEsEIIA B4 20,000& x150H 3,000
OXEFULAUE NsFEFA 40,0003 x32Z 1,280




S 22
S THOH 2 THEHOI &
Ce: o2y (982
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OF=20AA) s SEXAS
50,0002 *100H 5,000
OR% DI AKX As 1,500
12 JIEtE A2 3,400 2,500 900
ORI BASE 50,0002 *30H 1,500
ORIYUEE BRL2LXE 1,100,000 1,100
OREFRUADI} BAE 50,0002 x16H 800
A8 A (XA 105,900 121,200 215,300
301 UEBA2 29,500 26,500 3,000
03 S2AYHXIAH 29,500 0 29,500
O$HOERR s3s= 30,0002 x100 3,000
O9g2,0dagtly JI=ddU3s
20,0002 *500% 10,000
O, 0dAagl A= SH
20,0002 *500H 10,000
O s, A8l JIsddUia U3
30,0002 *150H 4,500
022, 0 el JI=ZAUS ANAE S 2,000
403 RXIESHSXH=0lE 76,400 77,000 2600
02 ZIIZSOICHEHIHE AFIHI 76,400 77,000 2600
OXAAZIAEAX| 3,300,000 50 A 16,500
ASEREHA 3,300,00024 374 A 9,900
OM$ESZX 25,000,000 * 14 A 25,000
OLDNEAZIE2 2,500,000 x107H A 25,000
12081 | MHIAR2H 787,284 528,492 258,792
fleld|siH2d 787,284 528,492 258,792
IIRE . Bots Zel(XHA) 787,284 528,492 258,792
201 LEr2YH| 43,284 40,492 2,792
01 AtR22IH] 21,284 7,400 13,884
Ot 2H| 18,484
—JI2E AEIH M 1,20024 %2, 0007H 2,400
—JI2EHEEY 4,000 *1,000H 4,000
—JIZ2EHHEAY £42 86,5002 x1,8592 12,084
Ol =H| 400




SN

K et2te| ot

B 200N A2Y
Chel: DI S 9@
ZE - (BH) - NRAY - BaS sl e HlRE2
—QAJISH Yet= 200,000& 2 400
O= gl 2,400
—8¥Es 24l 2,400
23234l 22,000 33,092 211,092
OAI& EBIR X dI 22,000
—AJHX Jt28 &l 300,000& 70 21,000
—dell+=H 500, 000& 23] 1,000
202 O4Hl 2,000 3,000 A 1,000
=LH0d I 2,000 3,000 21,000
O3 bI 2,000
206 TH=Hl 100,000 90,000 10,000
= 4l 100,000 90,000 10,000
ONZSESNMOIHES 2/45F) 100,000
401 A& HIZL=2OH| 642,000 395,000 247,000
A& H| 637,000 393,000 244,000
OSHXY BotsS4Xl 150,000
—SFEEX 1,400,000& x50 70,000
—FHRELX 800,000& *100& 80,000
OsXY 2ets4xl 68,600
—SFEEX 1,400,000& 215 29,400
—FHIREHLX 800,000& 495 39,200
OC&EHdEd IJt=2s4Xl 300,000
-S4 1,400,000& x100S 140,000
—FHRELX 800,000& *200& 160,000
OJI=Meg t2sEH & HEX
2,200,000& 222 48,400
OkL=:itz2 . 2otsEH| 50,000
—SFEEX 1,400,000& *x30S 42,000
—FHIREHLX 800,000& *10S 8,000
OAL7E2 FUSEAE o 20,000
03 AlZ=0idl 5,000 2,000 3,000
OPIXE=FSPN 5,000




A Mt2te|
M HE2FGHI (M2l )
chol: o2l 2ot (SHol:®el)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
HE2IHU (M2l 121,036 116,713 4,323
o3 2 gl 55,666 55,322 344
ol 2A Y| (XHAl) 55,666 55,322 344
101 ol t| 51,466 51,122 344
09 RIAHAZZXE=S 51,466 51,122 344
Ot ==Zr2te| (DMt ==2&) 21,533
—Jl23 40,8103 *1.055%250 1 10,764
=¥ 10,763,640& *4/12 3,588
—Z==E 7,660 x4 Al 2410 307
—5422E 40,8103 x1.5«10 613
A= 50,000& 12 600
S SN E = 40,8103 *x52Fx19 2,123
—AXt=g 40,810@ 222 x1Y4 898
— =4l 120,000& *12& x1Y 1,440
—wWEE LI 50,0003 *12& «x1H 600
—= WY 50,000& 128 »1H 600
Otzs=2+& 29,933
—Jl23 58,7103 +1.055%250 1 15,485
—JlZ==g 15,484, 7703 *4/12 5,162
A= 40,000 122 480
—Zutg 11,0103 *4 Al 2t+4 L+ 12 2,114
PN = 58,7103 52==x1H 3,053
= PNES= 58,7103 17 x1H 999
—g Al 120,000 *12& 1% 1,440
—wWE2 Xl 50,000 128 x1H 600
— =L Y] 50,0003 *12& «x1H 600
203 HRF&H 4,200 4,200 0
04 REN2ILRFLAYI 4,200 4,200 0
OgRF&dl 350,000& = 12& 4,200
DI 65,370 61,391 3,979
J12Z I (XAl 65,370 61,391 3,979
201 Lt 15,850 15,431 419




A THE2tel ot
HH: #H2IFHI(H2el)

e D=3l (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

01 At 2teld] 15,850 15,431 419
ORA2Y JI2&H| 15,850

202 O4Hl 49,520 45,960 3,560

01 =Wobl 47,360 44,160 3,200
O=Waobl 47,360

02 XA 2,160 1,800 360
O U0l 2,160

WEEEIGErEID 367,593 333,049 34,544

LHEHHXI & 367,593 330,549 37,044

LHEHH XIS (KHAI) 367,593 330,549 37,044

702 JISdEZ 367,593 330,549 37,044

01 JISd&EZ3 367,593 330,549 37,044

OM2teldls 36,759,214,550& *1/100 367,593




